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®�¼ê f(x) =
a lnx

x+ 1
+

b

x
, ­� y = f(x) 3: (1, f(1)) ?����§�

x+ 2y − 3 = 0.

(I)¦ a, b��.

(II)y²: � x > 0,� x 6= 1�, f(x) >
lnx

x− 1
.

)�. (I)dK¿�,­� y = f(x)3: (1, f(1))?����§�

y = f ′(1)(x− 1) + f(1);

,	­� y = f(x) 3: (1, f(1)) ?����§� y = −1

2
(x − 1) + 1. Ïdk

f ′(1) = −1

2
, f(1) = 1.

5¿�, f ′(x) =
a

x(1 + x)
− a lnx

(1 + x)2
− b

x2
,¤±���§


a

2
− b = −1

2
,

b = 1,

)�� a = 1, b = 1.

(II)Ø�ª�du� x > 0,� x 6= 1�,
1

x
>

2 lnx

x2 − 1
.

�Ä¼ê h(x) = x− 1

x
− 2 lnx,K

h′(x) = 1 +
1

x2
+

2

x
=

(1 + x)2

x2
.

u´� x > 0�, h′(x) > 0ð¤á,= h(x)3 (0,+∞)þ4O.qÏ� h(1) = 0,¤±

� 0 < x < 1�, h(x) < 0;� x > 1�, h(x) > 0.

� 0 < x < 1�,d� h(x) =
x2 − 1

x
− 2 lnx < 0,= 2 lnx >

x2 − 1

x
. ü>Ó�

Ø± x2 − 1 (d� x2 − 1 < 0),��
2 lnx

x2 − 1
<

1

x
;

� x > 1�,d� h(x) =
x2 − 1

x
− 2 lnx > 0,=

x2 − 1

x
> 2 lnx. ü>Ó�Ø±

x2 − 1 (d� x2 − 1 > 0),��
2 lnx

x2 − 1
>

1

x
.

nþ¤ã,ok� x > 0,� x 6= 1�,
1

x
>

2 lnx

x2 − 1
. �
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